
Exercise sheet ERM 10: ANOVA (between subjects design)

1) What does the abbreviation „ANOVA“ mean?

2) What is the advantage of ANOVA compared to the t-Test?

3) Decide if an ANOVA is appropriate and justify your decision.

	
	Appropriate
	Inappropriate
	Justification 

	You compare three groups (18-30 year old people, 30-50 year old people, or the 50-80 year old people) to find out if there is a difference in owning a car (vs. not owing a car) between the groups.
	
	
	

	You compare the reaction times (ms) of three groups that had either coffee, or milk, or nothing for breakfast.
	
	
	

	You compare several experimental conditions with each other. The assumption of normal distribution is violated. The sample size (n) is 7 per group.
	
	
	



4) What is a main effect? What is an interaction effect?

5) You would like to find out to what extent factor 1 (gender: male / female) and factor 2 (condition: bildhaft / emotional / strukturell) influence the dependent variable “Gesamtzahl erinnerter Adjektive”. Complete this experimental design:

	
	

	
	
	emotional
	

	Factor 1
	
	
	
	Male + strukturell

	
	Female 
	
	
	




Use the data set „Beispieldatensatz_A3“

6) Calculate in SPSS, if there is a difference in age („alter“) depending on the experimental condition („bed“) and the gender („sex“) (2×3 Design).

a. Calculations
F(__, __)=_____, p=_____
F(__, __)=_____, p=_____
F(__, __)=_____, p=_____

b. Interpretation (main effects and interaction effects) 

7) Calculate in SPSS, if there is a difference in total number of remembered adjectives, depending on the experimental condition („bed“).

a. Calculation
F(__, __)=_____, p=_____
There is a significant / no significant difference in total number of remembered adjectives depending on the experimental condition.
[bookmark: _GoBack]
b. If significant: Which groups differ significantly from each other?

8) Which is true? Tick one

	 main effect factor A
 main effect factor B
 interaction of both factors
 no effect
	[image: http://elearning.tu-dresden.de/versuchsplanung/content/e35/e3820/e3805/e3806/HaupteffektAundBunwirksam_thumbnail_ger.jpg]

	 main effect factor A
 main effect factor B
 interaction of both factors
 no effect
	[image: http://elearning.tu-dresden.de/versuchsplanung/content/e35/e3820/e3805/e3808/HaupteffektAunwirksam_thumbnail_ger.jpg]

	 main effect factor A
 main effect factor B
 interaction of both factors
 no effect
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	 main effect factor A
 main effect factor B
 interaction of both factors
 no effect
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	 main effect factor A
 main effect factor B
 interaction of both factors
 no effect
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Source: TU Dresden

9) Think of an experiment in the context of EduTech research, where an ANOVA would be suited in the analyses. Describe your experiment shortly.
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